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5 TR H 44— 81 2
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mEEHMUENRR:
LTS KR AL, TR ImL B, BEER. DKANZEIRK .

RIAILE R FOECH -

PEHUR: Witk SomLx1 i, 4°CIRAE:
5 —: WK 15mLx1 i, 4°CIRAF;
WA Widk 60mLx1 i, 4°CLRAE

HRAUERNES.
FRILZ) 0.1g Bl LAEEOAT LA, N ImL 42BGH, #ATUKRAIHK, FERIRGFN 30min, #4)5 10000g
4°CE0 10min, B EE, BIK ERFN.

ME SR
1. 206G BETHRFA 30min BL L, (5K 2 540nm, ZEMKIHE.
2. INFER (FE EP B AR UTIA T A

WAL (ul) e xof B
FEA 50 50
A 500
MK 500
VAT, 37°CHERI/KIE 2h
WA= 1000 1000

VBA, 90°C/KIB 10min (5%, Byib/AKaE50), WG, W 540nm FUHOGE A, 5 AA=A & &

A TR . REANINE R B IR

S-C1 fEMHHE:
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FRESAE T E BT FEN y = 6.4078x - 0.0673; x ARHESIKE (mg/mL), y ARG

BT S B g AR BRI FEAE 1 ng BETRE S SO — B A

S-C1 i% J1(ug /min /g 5 E)=[1000 X (AA+0.0673) =6.4078xV I ]+(Wx V #i=V FEE) =T
=14.305%(AA+0.0673) +W

1000: 1mg/mL=1000ug/mL; V Jx&: REARFREAE, 0.55mL; VA IMAREAMAER,

IONFRBCH AR, 1 mL; T: RMUESE, 120 ming W: FEARRE, g.

0.05mL; V ﬁé‘%‘\:



